

Home Search Collections Journals About Contact us My IOPscience

The Wronskian structure for solution of the k-constrained KP hierarchy

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 1994 J. Phys. A: Math. Gen. 27 4581 (http://iopscience.iop.org/0305-4470/27/13/031)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.68 The article was downloaded on 01/06/2010 at 21:27

Please note that terms and conditions apply.

The Wronskian structure for solution of the *k* -constrained KP hierarchy

You-Jin Zhang and Yi Cheng

Department of Mathematics, University of Science and Technology of China, Anhui, Hefei 230026, People's Republic of China

Received 5 October 1993, in final form 4 January 1994

Abstract. In this paper we study a class of (1 + 1)-dimensional integrable systems called the *k*-constrained KP hierarchy. We first show by using the Wronskian technique that the first flow of the 2-constrained KP hierarchy possesses solutions in generalized double Wronskian form; then we give a conjecture on the Wronskian structure for solutions of the general *k*-constrained KP hierarchy.

1. Introduction

It is well known that the KP hierarchy constructed in terms of the Sato theory can be reduced to obtain the *l*-reduced KP hierarchy, which consists of many interesting (1+1)-dimensional soliton equations [1]. For example the KdV equation and the Boussinesq equation belong to the 2-reduced and 3-reduced KP hierarchy respectively [1]. There is, however, another important type of reduction for the KP hierarchy, which was given in [2–4]. By using this new type of reduction, one obtains the following *k*-constrained KP hierarchy [4]:

$$L_{t_n} = [B_n, L] \tag{1.1a}$$

$$q_{t_n} = B_n q \tag{1.1b}$$

$$r_{i_n} = -B_n^* r \qquad n \ge 1 \tag{1.1c}$$

where

$$L = \partial + u_2 \partial^{-1} + u_3 \partial^{-2} + \cdots \tag{1.2}$$

is a micro-differential operator which satisfies the constraint

$$L^{k} = (L^{k})_{+} + q \partial^{-1} \circ r \qquad k \ge 1$$
(1.3)

while $\partial = \frac{\partial}{\partial x}$, $u_j (j = 2, 3, \dots)$ and q, r are functions of $t = (t_1, t_2, \dots)$ with $t_1 = x$, $B_n = (L^n)_+$ is the differential part of the operator L^n , B_n^* is the adjoint of B_n , and $\partial^{-1} \circ r$ is defined by

$$\partial^{-1} \circ r = r \partial^{-1} - r_x \partial^{-2} + r_{xx} \partial^{-3} - \cdots.$$

$$(1.4)$$

When q = r = 0, the k-constrained KP hierarchy (1.1) leads to the usual k-reduced KP hierarchy given in [1]. For general q and r the solutions of the k-constrained KP hierarchy (1.1) provide a submanifold of the solutions of the KP hierarchy [2-4].

0305-4470/94/134581+08\$19.50 (C) 1994 IOP Publishing Ltd

The 1-constrained KP hierarchy is just the AKNS hierarchy with the following first flow:

$$q_{l_2} = q_{xx} + 2q^2r \tag{1.5a}$$

$$r_{t_2} = -r_{xx} - 2qr^2. \tag{1.5b}$$

In the 2-constructed KP hierarchy, the first flow is

$$q_{i_2} = q_{xx} + 2u_2 q \tag{1.6a}$$

$$u_{2,t_2} = (qr)_x \tag{1.6b}$$

$$r_{t_2} = -r_{xx} - 2u_2 r. \tag{1.6c}$$

Equation (1.6) was given by Yajima and Oikawa and was solved by using the inverse scattering method [5]; it has some physical applications. We call it in this paper the Yajima–Oikawa equation.

References [4, 6] showed the Lax pairs, the recursion operators and the bi-Hamiltonian structures of the k-constrained KP hierarchy (1.1). References [7, 8] further showed that the k-constrained KP hierarchy (1.1) can be put into bilinear equations; their rational and soliton solutions can be constructed by using the free Fermion operators. In this paper, we investigate the Wronskian structure for the solutions of the k-constrained KP hierarchy. In section 2, we introduce some useful notation and identities; in section 3, we prove that the Yajima–Oikawa equation (1.6) has solutions in generalized double Wronskian form. Then in section 4, based on the result of section 3, the double Wronskian solution of the AKNS hierarchy and the double-soliton solution of the k-constrained KP hierarchy (1.1), we shall give a conjecture on the Wronskian structure for the solutions of the k-constrained KP hierarchy.

2. Some notation and identities

In this section, we introduce some notation and identities which will be useful for our investigation of the Wronskian structure for the solutions of the k-constrained KP hierarchy.

Let φ and ψ be two column vectors which depend on the variable $t = (t_1, t_2, \cdots); N, M, i_1, \cdots, i_{\mu}, j_1, \cdots, j_{\nu}$ be positive integers. Let $\tilde{t} = (\tilde{t}_1, \tilde{t}_2, \cdots) = (\frac{1}{2}t_1, \frac{1}{2}t_2, \cdots)$.

Define

$$|\hat{N}, i_1, \cdots, i_{\mu}; \ \hat{M}, j_1, \cdots, j_{\nu}| = \det(\hat{N}, i_1, \cdots, i_{\mu}; \ \hat{M}, j_1, \cdots, j_{\nu})$$
(2.1)

where we have asssumed that the above determinant is well defined, and the above matrices are defined as follows:

$$\hat{N} = (\varphi, \varphi^{(2)}, \dots, \varphi^{(2N)}) \qquad \hat{M} = (\psi, \psi^{(1)}, \dots, \psi^{(M)})
(\hat{N}, i_1, \dots, i_{\mu}; \hat{M}, j_1, \dots, j_{\nu})
= (\varphi, \varphi^{(2)}, \dots, \varphi^{(2N)}, \varphi^{(2i_1)}, \dots, \varphi^{(2l_{\mu})}, \psi, \psi^{(1)}, \dots, \psi^{(M)}, \psi^{(j_1)}, \dots, \psi^{(j_{\nu})})$$
(2.2)

 $\varphi^{(i)}$ and $\psi^{(j)}$ denote the column vectors obtained by taking the *i*th and *j*th order derivatives of the components of φ and ψ with respect to \tilde{t}_1 . Similarly we define

$$|\hat{N}_{k}, i_{1}, \cdots, i_{\mu}; \ \hat{M}, j_{1}, \cdots, j_{\nu}| = \det\left(\hat{N}_{k}, i_{1}, \cdots, i_{\mu}; \ \hat{M}, j_{1}, \cdots, j_{\nu}\right)$$
(2.3)

$$|\hat{N}_{kl}, i_1, \cdots, i_{\mu}; \ \hat{M}, \ j_1, \cdots, \ j_{\nu}| = \det\left(\hat{N}_{kl}, i_1, \cdots, i_{\mu}; \ \hat{M}, \ j_1, \cdots, \ j_{\nu}\right)$$
(2.4)

$$|\hat{N}, i_1, \cdots, i_{\mu}; \ \hat{M}_k, j_1, \cdots, j_{\nu}| = \det\left(\hat{N}, i_1, \cdots, i_{\mu}; \ \hat{M}_k, j_1, \cdots, j_{\nu}\right)$$
(2.5)

and so on, where

$$\hat{N}_{k} = \left(\varphi, \varphi^{(2)}, \cdots, \varphi^{(2k-2)}, \varphi^{(2k+2)}, \cdots, \varphi^{(2N)}\right)
\hat{N}_{kl} = \left(\varphi, \varphi^{(2)}, \cdots, \varphi^{(2k-2)}, \varphi^{(2k+2)}, \cdots, \varphi^{(2l-2)}, \varphi^{(2l+2)}, \cdots, \varphi^{(2N)}\right)
\hat{M}_{k} = \left(\psi, \psi^{(1)}, \cdots, \psi^{(k-1)}, \psi^{(k+1)}, \cdots, \psi^{(M)}\right).$$
(2.6)

The above notation is similar to that given in [9, 10]. In this paper, the determinants of the form (2.1)–(2.5) are said to be in generalized double Wronskian form.

From [9] we have the following identities:

$$\sum_{i=1}^{n} |\nu_1, \cdots, \lambda \nu_i, \cdots, \nu_n| = \left(\sum_{i=1}^{n} \lambda_i\right) |\nu_1, \nu_2, \cdots, \nu_n|$$
(2.7)

$$|Eab||Ebc| - |Ebd||Eac| + |Ecd||Eab| = 0$$
(2.8)

where v_i, a, b, c, d are $n \times 1$ matrices, E is a $n \times (n-2)$ matrix, and $v_i = (v_i^1, v_i^2, \dots, v_i^n)^T, \lambda v_i = (\lambda_1 v_i^1, \lambda_2 v_i^2, \dots, \lambda_n v_i^n)^T$.

The identities (2.7) and (2.8) are very useful identities in the construction of solutions for some soliton equations by using the Wronskian technique [9].

3. The Wronskian structure for the solutions of the Yajima-Oikawa equations (1.6)

Let us define the functions τ , ρ , σ as follows:

$$u_2 = \frac{\partial^2 \ln \tau}{\partial t_1^2} \qquad q = \frac{\rho}{\tau} \qquad r = \frac{\sigma}{\tau}.$$
 (3.1)

Then the Yajima-Oikawa equation (1.6) is transformed to the following bilinear equations:

$$D_1 D_2 \tau \circ \tau = 2\rho \sigma \tag{3.2a}$$

$$(D_2 - D_1^2)\rho \circ \tau = 0 \tag{3.2b}$$

$$(D_2 + D_1^2)\sigma \circ \tau = 0 \tag{3.2c}$$

where D_i , i = 1, 2 is the Hirota's bilinear operator with respect to t_i . We have the following theorem:

Theorem. Equation (3.2) has the following solution:

$$\tau = |\hat{N}; \ \hat{M}| = \det\left(\varphi, \varphi^{(2)}, \cdots, \varphi^{(2N)}, \psi, \psi^{(1)}, \cdots, \psi^{(M)}\right)$$
(3.3a)

$$\rho = |\widehat{N+1}; \ \widehat{M-1}| = \det\left(\varphi, \varphi^{(2)}, \cdots, \varphi^{(2N+2)}, \psi, \psi^{(1)}, \cdots, \psi^{(M-1)}\right)$$
(3.3b)

$$\sigma = |\widehat{N-1}; \ \widehat{M+1}| = \det\left(\varphi, \varphi^{(2)}, \dots, \varphi^{(2N-2)}, \psi, \psi^{(1)}, \dots, \psi^{(M+1)}\right)$$
(3.3c)

where $\varphi = (\varphi_1, \varphi_2, \dots, \varphi_{N+M+2})^T$, $\psi = (\psi_1, \psi_2, \dots, \psi_{N+M+2})^T$, $\varphi_i = a_i e^{\lambda_i \tilde{t}_1 + \lambda_i^2 \tilde{t}_2}$, $\psi_i = b_i e^{-\lambda_i \tilde{t}_1 - \lambda_i^2 \tilde{t}_2}$, and λ_i , a_i , b_i are arbitrary constants, $N, M \ge 1$.

Proof. We first prove that τ , ρ , σ defined by (3.3) satisfy equation (3.2*a*), or equivalently, the following equation:

$$\tau_{\tilde{t}_1 \tilde{t}_2} \tau - \tau_{\tilde{t}_1} \tau_{\tilde{t}_2} - 4\rho\sigma = 0.$$
(3.4)

From the definition we have

$$\begin{aligned} \tau_{\tilde{t}_{1}} &= \sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}, 2j+1; \ \hat{M}| + |\hat{N}; \ \widehat{M-1}, M+1| \\ \tau_{\tilde{t}_{2}} &= |\widehat{N-1}, 2N+2; \ \hat{M}| - |\hat{N}; \ \widehat{M-2}, M+1, M| - |\hat{N}; \ \widehat{M-1}, M+2| \\ \tau_{\tilde{t}_{1}\tilde{t}_{2}} &= \sum_{j=0}^{N-1} (-1)^{N-1+j} |(\widehat{N-1})_{j}, 2j+1, 2N+2; \ \hat{M}| + |\widehat{N-1}, 2N+3; \ \hat{M}| \\ &+ |\widehat{N-1}, 2N+2; \ \widehat{M-1}, M+1| - \sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}, 2j+1; \ \widehat{M-2}, M+1, M| \\ &- |\hat{N}; \ \widehat{M-3}, M-1, M+1, M| - |\hat{N}; \ \widehat{M-2}, M+2, M| - |\hat{N}; \ \widehat{M-1}, M+3| \\ &- \sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}, 2j+1; \ \widehat{M-1}, M+2| - |\hat{N}; \ \widehat{M-2}, M, M+2|. \end{aligned}$$

By using the identity (2.7) we have

$$\begin{pmatrix} \sum_{i=1}^{N+M+2} \lambda_i \end{pmatrix} \tau = \tau_{\tilde{t}_1} - 2|\hat{N}; \ \widehat{M-1}, M+1| \\ \begin{pmatrix} \sum_{i=0}^{N+M+2} \lambda_i^2 \end{pmatrix} \tau = \tau_{\tilde{t}_2} + 2|\hat{N}; \ \widehat{M-2}, M+1, M| + 2|\hat{N}; \ \widehat{M-1}, M+2| \\ \begin{pmatrix} \sum_{i=0}^{N+M+2} \lambda_i \end{pmatrix} \begin{pmatrix} \sum_{i=0}^{N+M+2} \lambda_i^2 \end{pmatrix} \tau = \tau_{\tilde{t}_1 \tilde{t}_2} + 2 \sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_j, 2j+1; \ \widehat{M-2}, M+1, M| \\ - 2|\widehat{N-1}, 2N+2; \ \widehat{M-1}, M+1| \\ + 2 \sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_j, 2j+1; \ \widehat{M-1}, M+2|. \end{cases}$$

So from the identity

$$\left(\sum_{i=0}^{N+M+2} \lambda_i\right) \left(\sum_{i=0}^{N+M+2} \lambda_i^2\right) \tau \cdot \tau = \left(\sum_{i=0}^{N+M+2} \lambda_i\right) \tau \cdot \left(\sum_{i=0}^{N+M+2} \lambda_i^2\right) \tau$$

we have

$$\frac{1}{2}(\tau_{\tilde{t}_{1}\tilde{t}_{2}}\tau - \tau_{\tilde{t}_{1}}\tau_{\tilde{t}_{2}}) = \left\{ |\widehat{N-1}, 2N+2; \ \widehat{M-1}, M+1| - \sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}, 2j+1; \ \widehat{M-2}, M+1, M| \right\}$$

$$-\sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}, 2j+1; \widehat{M-1}, M+2| \} |\hat{N}; \hat{M}| \\ + \left\{ |\hat{N}; \widehat{M-2}, M+1, M| + |\hat{N}, \widehat{M-1}, \widehat{M+2}| \right\} \\ \times \sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}, 2j+1; \hat{M}| \\ - |\hat{N}; \widehat{M-1}, M+1| |\widehat{N-1}, 2N+2; \hat{M}|.$$

By using the identity (2.8) we have

$$\tau_{\tilde{t}_{1}\tilde{t}_{2}}\tau - \tau_{\tilde{t}_{1}}\tau_{\tilde{t}_{2}} - 4\rho\sigma = 2\sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}; \ \widehat{M+1}| |\hat{N}, 2j+1; \ \widehat{M-2}, M|$$
$$-2|\widehat{N+1}; \ \widehat{M-1}| |\widehat{N-1}; \ \widehat{M+1}|$$
$$-2\sum_{j=0}^{N} (-1)^{N+j} |\hat{N}_{j}; \ \hat{M}, M+2| |\hat{N}, 2k+1; \ \widehat{M-1}|.$$

For convenience, we denote the right-hand side of the above equality by 2S. By using identity (2.7) we have

$$\begin{split} \widehat{|N+1; \ M-1|} &= \left(\sum_{i=0}^{N+M+2} \lambda_i\right) [\hat{N}, 2N+1; \ \widehat{M-1}] + [\hat{N}, 2N+1; \ \widehat{M-2}, M] \\ &- \sum_{j=0}^{N-1} (-1)^{N+j} [\hat{N}_j, 2j+1, 2N+1; \ \widehat{M-1}] \end{split}$$

so

$$\begin{split} |\widehat{N+1}; \ \widehat{M-1}||\widehat{N-1}; \ \widehat{M+1}| &= |\widehat{N}, 2N+1; \ \widehat{M-2}, M||\widehat{N-1}; \ \widehat{M+1}| \\ &- |\widehat{N}, 2N+1; \ \widehat{M-1}||\widehat{N-1}; \ \widehat{M}, M+2| \\ &- \sum_{j=0}^{N-1} (-1)^{N+j} |\widehat{N}_j, 2j+1, 2N+1; \ \widehat{M-1}||\widehat{N-1}; \ \widehat{M+1}| \\ &+ \sum_{j=0}^{N-1} (-1)^{N+j-1} |(\widehat{N-1})_j, 2j+1; \ \widehat{M+1}||\widehat{N}, 2N+1; \ \widehat{M-1}| \end{split}$$

thus we have

$$\begin{split} S &= \sum_{j=0}^{N-1} (-1)^{N+j} |\hat{N}_j; \ \widehat{M+1}| |\hat{N}, 2j+1; \ \widehat{M-2}, M| \\ &- \sum_{j=0}^{N-1} (-1)^{N+j} |\hat{N}_j; \ \widehat{M}, M+2| |\hat{N}, 2j+1; \ \widehat{M-1}| \\ &+ \sum_{j=0}^{N-1} (-1)^{N+j} |\hat{N}_j, 2j+1, 2N+1; \ \widehat{M-1}| |\widehat{N-1}; \ \widehat{M+1}| \\ &+ \sum_{j=0}^{N-1} (-1)^{N+j} |\widehat{(N-1)}_j, 2j+1; \ \widehat{M+1}| |\hat{N}, 2N+1; \ \widehat{M-1}|. \end{split}$$

By using the equality

$$\begin{split} |\hat{N}_{j}; \ \hat{M}, M+2| &= -\left(\sum_{i=0}^{N+M+2} \lambda_{i}\right) |\hat{N}_{j}; \ \hat{M}, M+1| \\ &+ \left\{\sum_{l < j} (-1)^{N+1+l} + \sum_{l > j} (-1)^{N+l}\right\} |\hat{N}_{jl}, 2l+1; \ \hat{M}, M+1| \end{split}$$

we can rewrite S as follows:

$$\begin{split} S &= \sum_{j=0}^{N-1} (-1)^{N+j} |\hat{N}_{j}; \ \widehat{M+1}| |\hat{N}, 2j+1; \ \widehat{M-2}, M| \\ &+ \sum_{j=0}^{N-1} (-1)^{N+j} \Big\{ (-1)^{N+l} \sum_{l \neq j}^{N} |\hat{N}_{l}, 2l+1, 2j+1; \ \widehat{M-1}| \\ &+ |\hat{N}, 2j+2; \ \widehat{M-1}| - |\hat{N}, 2j+1; \ \widehat{M-2}, M| \Big\} |\hat{N}_{j}; \ \widehat{M+1}| \\ &- \sum_{j=0}^{N-1} (-1)^{N+j} |\hat{N}, 2j+1; \ \widehat{M-1}| \left\{ \sum_{l < j} (-1)^{N+l+l} + \sum_{l > j} (-1)^{N+l} \right\} \\ &\times |\hat{N}_{jl}, 2l+1; \ \widehat{M+1}| \\ &+ \sum_{j=0}^{N-1} (-1)^{N+j} |\hat{N}_{j}, 2j+1, 2N+1; \ \widehat{M-1}| |\widehat{N-1}; \ \widehat{M+1}| \\ &+ \sum_{j=0}^{N-1} (-1)^{N+j} |(\widehat{N-1})_{j}, 2j+1; \ \widehat{M+1}| |\hat{N}, 2N+1; \ \widehat{M-1}|. \end{split}$$

To prove S = 0, we need the following identities:

$$\det\left(\begin{array}{cccc} \widehat{N-1}, & \widehat{N}_j, & 2j+1, & 2N+1; & \widehat{M+1}, & 0\\ \widehat{N-1}, & \widehat{N}_j, & 2j+1, & 2N+1; & 0, & \widehat{M-1} \end{array}\right) = 0$$
(3.5)

$$\det\begin{pmatrix}N_j, & N_l, & 2l+1, & 2j+1; & M+1, & 0\\\hat{N}_j, & \hat{N}_l, & 2l+1, & 2j+1; & 0, & \widehat{M-1}\end{pmatrix} = 0.$$
(3.6)

they can be equivalently written as

$$\begin{split} |\hat{N}_{j}, 2j+1, 2N+1; \ \widehat{M-1}||\widehat{N-1}; \ \widehat{M+1}| + |(\widehat{N-1})_{j}, 2j+1; \ \widehat{M+1}| \\ & \times |\hat{N}, 2N+1; \ \widehat{M-1}| + |\widehat{N-1}, 2N+1, 2j+1; \ \widehat{M-1}||\hat{N}_{j}; \ \widehat{M+1}| \\ & - |\hat{N}, 2j+1; \ \widehat{M-1}||(\widehat{N-1})_{j}, 2N+1; \ \widehat{M+1}| \\ & = 0 \qquad 0 \leqslant j \leqslant N-1 \qquad (3.7) \\ |\hat{N}_{l}, 2l+1, 2j+1; \ \widehat{M-1}||\hat{N}_{j}; \ \widehat{M+1}| + |\hat{N}_{jl}, 2l+1; \ \widehat{M+1}| \\ & \times |\hat{N}, 2j+1; \ \widehat{M-1}| + |\hat{N}_{j}, 2j+1, 2l+1; \ \widehat{M-1}||\hat{N}_{l}; \ \widehat{M+1}| \\ & - |\hat{N}_{lj}, 2j+1; \ \widehat{M-1}| + |\hat{N}, 2l+1; \ \widehat{M-1}| \\ & = 0 \qquad 0 \leqslant l < j \leqslant N-1. \end{split}$$

Since when $j \leq N-1$, $|\hat{N}, 2j+2$; $\widehat{M-1}| = 0$, from identities (3.7) and (3.8) we know that S = 0. Thus we have proved that τ , ρ , σ satisfy equation (3.2*a*). Similarly, we can prove that τ , ρ , σ also satisfy equations (3.2*b*) and (3.2*c*). The theorem is proved.

4. A conjecture on the Wronskian structure for the solutions of the k-constrained KP hierarchy

In the preceding section, we have shown that the Yajima–Oikawa equation (1.6) which is the first flow of the 2-constrained KP hierarchy, has solutions in generalized double Wronskian form. In this section, we shall give a conjecture on the Wronskian structure for the solutions of the k-constrained KP hierarchy. For this purpose, we first give the bilinear equations for the k-constrained KP hierarchy. From [7, 11] we know that if we define τ , ρ , σ as follows:

$$\frac{\partial^2}{\partial t_1 \partial t_2} \ln \tau = \operatorname{Res}_{\partial} L^n \qquad q = \frac{\rho}{\tau} \qquad r = \frac{\sigma}{\tau}$$

where $\operatorname{Res}_{\partial} L^n$ denotes the coefficient of ∂^{-1} of the micro-differential operator L^n , then the *k*-constrained KP hierarchy can be put into the following bilinear equations:

$$\exp\left(\sum_{i=1}^{\infty} y_i D_i\right) \sigma \cdot \rho = \sum_{j=0}^{\infty} p_j (-2y) p_{j+k+1}(\tilde{D}) \exp\left(\sum_{i=1}^{\infty} y_i D_i\right) \tau \cdot \tau$$
(4.1*a*)

$$\exp\left(\sum_{i=1}^{\infty} y_i D_i\right) \tau \cdot \rho = \sum_{j=0}^{\infty} p_j (-2y) p_j(\tilde{D}) \exp\left(\sum_{i=1}^{\infty} y_i D_i\right) \rho \cdot \tau$$
(4.1b)

$$\exp\left(\sum_{i=1}^{\infty} y_i D_i\right) \sigma \cdot \tau = \sum_{j=0}^{\infty} p_j (-2y) p_j (\tilde{D}) \exp\left(\sum_{i=1}^{\infty} y_i D_i\right) \tau \cdot \sigma$$
(4.1c)

where $y = (y_1, y_2, \dots)$, $\tilde{D} = (D_1, \frac{1}{2}D_2, \frac{1}{3}D_3, \dots)$, D_n , $n = 1, 2, \dots$ is the Hirots's bilinear operator with respect to t_n and $p_j(t)$, $j = 1, 2, \dots$ is the Schur polynomial defined by

$$e^{\xi(t,\lambda)} = \sum_{j=0}^{\infty} p_j(t)\lambda^j \qquad \xi(t,\lambda) = \sum_{i=1}^{\infty} \lambda^i t_i.$$
(4.2)

We now give the following conjecture:

Conjecture. Let

$$\tau = \det\left(\varphi, \varphi^{(k)}, \cdots, \varphi^{(kN)}, \psi, \psi^{(1)}, \cdots, \psi^{(M)}\right)$$
(4.3a)

$$\rho = \det\left(\varphi, \varphi^{(k)}, \cdots, \varphi^{(kN+k)}, \psi, \psi^{(1)}, \cdots, \psi^{(M-1)}\right)$$
(4.3b)

$$\sigma = \det\left(\varphi, \varphi^{(k)}, \cdots, \varphi^{(kN-k)}, \psi, \psi^{(1)}, \cdots, \psi^{(M+1)}\right)$$
(4.3c)

where $\varphi = (\varphi_1, \varphi_2, \dots, \varphi_{N+M+2})^T$, $\psi = (\psi_1, \psi_2, \dots, \psi_{N+M+2})^T$, $\varphi_i = a_i e^{\xi(\bar{i}, \lambda_i)}$, $\psi_i = b_i e^{-\xi(\bar{i}, \lambda_i)}$, and a_i, b_i, λ_i are arbitrary constants, M, N are arbitrary positive integers. Then τ , ρ , σ defined by (4.3) satisfy equations in (4.1), thus giving a solution of the *k*-constrained KP hierarchy.

From the Wronskian solutions of the AKNS hierarchy given in [10] we know that the conjecture is verified for the 1-constrained KP hierarchy, and for the first flow of the 2-constrained KP hierarchy the conjecture is verified by the result of section 3. For general k, it can be shown that the double-soliton solution of the k-constrained KP hierarchy found in [8] can be put into the form given in the conjecture with M = N = 2.

5. Conclusion

We have proved that the first flow of the 2-constrained KP hierarchy has solution in generalized double Wronskian form, and then based on this fact and the double Wronskian solutions of the 1-constrained KP hierarchy, the double-soliton solution of the k-constrained KP hierarchy, we give a conjecture that the k-constrained KP hierarchy has solutions in generalized double Wronskian form. We note that if our conjecture is true for general k, N, M, then the τ defined by (4.3a) is also a tau-function for the KP hierarchy, and it may be put into the form of a usual Wronskian determinant [1, 11, 12], this provides us a hint to verify our conjecture. On the other hand, from [8] we know that solutions τ , ρ , σ of the k-constrained KP hierarchy can be obtained by using the free Fermion operators, and they can be expressed by vertex operators, thus another possible way to see whether our conjecture is true is to relate the τ , ρ , σ defined by (4.3) with the τ , ρ , σ expressed by the vertex operators given in [8].

Acknowledgments

This work was partly supported by the National Natural Science Fund of China.

References

- Date E, Jimbo M, Kashiwara M, Miwa T 1983 Nonlinear Integrable Systems-Classical Theory and Quantum Theory ed M Jimbo and T Miwa (Singapore: World Scientific) p 39
- [2] Konopelchenko B G, Sidorenko J and Strampp W 1991 Phys. Lett. 157A 17
- [3] Cheng Y and Li Y S 1991 Phys. Lett. 157A 22
- [4] Cheng Y 1992 J. Math. Phys. 33 3774
- [5] Yajima N and Oikawa M 1976 Prog. Theor. Phys. 56 1719
- [6] Cheng Y 1993 Hamiltonian structures for the nth constrained Kadomtsev-Petviashvili hierarchy Preprint
- [7] Cheng Y and Zhang Y J 1993 Bilinear equations for the constrained KP hierarchy *Inverse Problems* 9 in press
- [8] Cheng Y and Zhang Y J 1993 Solutions of the vector k-constrained KP hierarchy Preprint
- [9] Nimmo J J C and Freeman N C 1983 Phys. Lett. 95A I
- [10] Liu Q M 1990 J. Phys. Soc. Japan 59 3520
- [11] Dickey L A 1991 Soliton Equations and Hamiltonian Systems (Singapore: World Scientific)
- [12] Hirota R, Ohta Y and Satsuma J 1988 Prog. Theor. Phys. Suppl. 94 59